B N ERE

1. LEA4
TE4 B 6 FEEE 5 4 5 KHE 2 BAEMERMIE T H
T4 S I VR s T 22 R AR N T B ~ 22 AL K R ARIT
2. TENE
1)  FHEIT4 IR EREERT B
2) £ L M G T
3) T b 513 H [ H S0 64 8H 1H
= AFn T4HE12A26H
4) T

iz T ED R



[ I VR o T 22 e R DN AR T B ~ 22 L R ARET

]

Vaviarel =1
B NERE
T4 | 56 FEEES 4 5 RANE 2 R2EIMERME T H
TEHXSy « TfE - FER H A7 B & & F # il ] 7
BRRETHE = 1 111, 732,575
ST T = 1 1, 223, 300
FH TR L 2V 1 1,223,300 |34 CHAMHE (A) 0. 02 t
X THA & (B) 0.01 t
TR E (C) 0. 05 t
SN THE 2 m2
Mt=4mm ;
& A1 @ i 1 = 1 4, 149, 710
e L 2V 1 2,320, 350 | 4]~ 2 hAL{eh G Al 9.3 -
T2 1 (A) HEE
i 40mm ;
IR T = 1 1,829,360 |/k810 (A) 76 m
1K RLER (A) 2 & T
g mfife L 2V 1 13, 330, 221
O OEINAE T = 1 8,142,151 |FETALEE 1 HiEY
FETATLHEW)
A & ) Mok Vg
REEA T 1 W)
REEATIE Q) BRI
IR FVSIHE3FE
REEA T 1 W)
REEATIE W) &R
R FVRBIHE3FE
W s e T = 1 4,651,930 |av))-MIoY 3 m2
Mt=50mm ;
2/ ))=-MI2 D 2 m2
Mt=50mm ;
FE Lk 1 W)
£EE Tk (A)

K )v—t A/ MNevAV Mt=50mm ;

iz T ED R



[ I VR o T 22 e R DN AR T B ~ 22 L R ARET

]

Vaviarel =1
B NERE
THEL | S 6FEEEES 4 5 RNE 2 BAGEIMERME TF
TEHXSy « TfE - FER H A7 B & & F # il ] 7
EETHEE®) 3 m2
oy WA Mt=50mm ;
EETHEE®) 2 m2
5y W5 Mt=50mm ;
F MR T = 1 536, 140 | & 478 (A) 13 m2
KEpE () 4 m2
Bl T = 1 63, 316, 362
TEGRBRAE T = 1 63, 316, 362 | FEHhFHIK 2,910 m2
FIBEA LB
S 2,910 m2
1RErVy (B ) T EALHE)
T 2,910 m2
By T Hi
HHE /1) 9T~ Ab
T 2,910 m2
FIRAIE AT ¥V IR Sk}
g 2,910 m2
SRR 5o TR EE K
k% 2,910 m2
FIRAIE 5 - FREESE K
HEEYR T 2V 1 11, 551, 632
TEHRALEL T = 1 11,551,632 | BEIERIEE A A1 - FEHA 5, 820 m2
o 0.2 m3
) -hik (5
o 0.1 m3
) -hik (5
i T 4 1 m3
avyy bk (k%)
FRALSY 0.3 m3
) -hik (5
LSy 1 m3

30— b (SR

iz T ED R



[ I VR o T 22 e R DN AR T B ~ 22 L R ARET

]

R AR E
THE4 | B 6FEEE 5 4 5 RMNE 2 &AEIMERAHE TE
THXSy - T - fly HOfr B & & fH # bl 2 g
B 5578 A5 i e 1 =
AL IE
% L = 1 18, 161, 350
25T = 1 17, 562, 600
AmE L = 1 598, 750
[ELBE Ly X 1 111, 732, 575
Rk E v 1 21, 314, 800
eSS = 1 1, 129, 800
FeAfriE gy = 1 58,800 | BB AR ELAT ~IEREY 1 =
BUGRESCGER (REth) v 1 1,071, 000
il (FE L) v 1 20, 185, 000
Wi v 1 133, 047, 375
B E R X 1 55, 206, 000
TRl v 1 348, 406, 700
—fRE % 2y 1 47, 953, 300
T fifik& X 1 396, 360, 000
-3- EtAms  TE R



[ I R R I T 22 P X\ AR~ 22 e A X T 3 1 i

Poxin =
BAENRE
THE4L | 56 FEHEEESD 4 5 RKNKE 2 B2EGIMGERME TFH
TEHEXSy - TfE - fER Bz ¥ = & A M il N 7
WREETH = 1 94, 108, 325
T T X 1 18, 751, 900
SRAT A R T = 1 18, 751,900 | 4 THAIfE (D) 0. 06 t
HRAA B (A) 5 & AT
AL B (B) 9 & AT
HRAA B (C) 8 & AT
AU (D) 37 i
IANE=S 2 & T
TR A& T X 1 5, 594, 050
AR S A T = 1 815,050 ¥4} 7" b=hEUEE 10 & AT
0% RN &S & T
AL T = 1 4,779,000 | AR (A) 3 pre
&R E T X 1 16, 050, 601
TR T T = 1 14, 600, 960 | 4+ 2™ A HE L B fHE 17.6 m
TRAESE E (B) BLE D
fHp i & 100mm ;
B - 27 LW 2 1 S 8.8 n
THRAESE & (C) BB
fifE F80mm ;
B - 27 W 2 1 S 26. 4 n
TRAESE & (D) BE D
fipfE F60mm ;
HEAKiE % T 2V 1 993, 161 | HEAKAE B (A) 7 & AT
HEAKE B (B) 2 & AT
N ANEE A 1 & BT
AKX T X 1 456, 480 | H #1k sk (A) 16 m
& A T = 1 474, 500
-4 - ELRiEsE  TEMSEE




[ I R R I T 22 P X\ AR~ 22 e A X T 3 1 i

]

Vaviarel =1
B NERE
T4 | 56 FEEES 4 5 RANE 2 R2EIMERME T H
TEHXSy « TfE - FER H A7 B & & F # il ] EN
O OEINAE T = 1 90,740 |FETATLIE 1 HiEY
FETATLHEW)
Al & ) ok ¥vEHIE
Wi s T = 1 264,000 |/E'E LiE 1 HiEY
£EE Tk (A)
K V=LA MY Mt=50mm ;
JE B A S L 2V 1 119, 760 | 4851 EREE AL BIFRPY | 0. 008 m2
Bl T = 1 2,761, 745
TEGRBRAE T = 1 2,746,460 | FEHhFH% 79 m2
FIBEA LB
F R 80 m2
1REFVy (B ) T RALHE)
Rh & T 80 m2
HHE /1) 9T~ Ab
T 80 m2
FIRAIE AT ¥V IR SR}
i 80 m2
SRR 5o TR EE K
k% 80 m2
FIRAIE 5 - FREESE K
R T =< 1 12,245 | EHIZHAE 1 m2
&) T BALE
T@ 1 m2
Aba=b ZEVELE FvRHIE R ;
T@ 1 m2
BRI VISR
i 1 m2
S0 FRIIEBEL R
k% 1 m2
S o FRIIEBEL RE
TEGRBRAE T = 1 3,040 | FEHIFHEE 0.2 m2
& ) T EALE ;
-5 - Ermy  E R



IR B VIRl T 22 Ve KON R~ L AL X T B N ]

Vaviarel =1
B NERE
THEL | S 6FEEEES 4 5 RNE 2 BAGEIMERME TF
TEHXSy « TfE - FER H A7 B & & F # il ] 7
T 0.2 m2
By T Hi
FHEY V) 9FA (V)
T 0.2 m2
WAba-b EVELE ¥vEHIR SR ;
T 0.2 m2
BRI VISR ;
i 0.2 m2
Lo RBNREE K |
k% 0.2 m2
SoRBIEEE KK
HEE YR T 2V 1 452,079
TEHRALEL T = 1 452,079 | U3 REESHIRE P [R1UY - FEAA 159 m2
o 0.05 m3
) -hik (5
i T A 6 m3
avyy bk (k%)
LSy 0.05 m3
) -hik (5
LSy 6 m3
avyy bk (k%)
BG4 i S 1 =
HHEEE 8 < T
% T = 1 50, 023, 450
Jez” = 1 49, 424, 700
AR T 2V 1 598, 750
T HEE 2V 1 94, 108, 325
It =Y 1 18, 840, 000

-6 - iz T ED R



FNER

[ I R R I T 22 P X\ AR~ 22 e A X T 3 1 i

]

=

THE4 | B 6FEEE 5 4 5 RMNE 2 &AEIMERAHE TE

THXSy - T - fly HOfr B & & fH # bl 2 g

e Rk # = 1 926, 000
HGRESER (G5 L) v 1 926, 000
il (FE L) v 1 17,914, 000
Wi v 1 112, 948, 325
B E R X 1 417, 205, 000
TRl v 1 160, 153, 325

iz T ED R



